

2025 FACILITY RENTALS

Gold Country Fairgrounds and Event Center

ARMORY BUILDING



65 ft. X 137.5 ft. = 8,937.5 sq. ft. Dines: 575, Seats: 1250, Stands: 1775

Included with Building:

Pricing: Security Deposit \$500

Tables and chairs NOT

included.

Facility Rental \$1,380 per day Set-up / Dismantle Day \$550 per day

Please note: Kitchen & Bar

are not available. Tables or

chairs are not included with

hall rental.

AUBURN HOST LIONS BUILDING



79 ft. X 33 ft. = 2600 sq. ft. Dines: 100, Seats: 200, Stands: 375

Included with Building:

- 12 Round Tables
- 100 Chairs
- Climate | HVAC & 4

Large Fans

Please note: Kitchen is

available

Pricing: Security Deposit \$500

Facility Rental \$955 per day Set-up / Dismantle Day \$475 per day

Weekday Pricing: Security Deposit \$500

Facility Rental - 4 Hours \$420 per day Facility Rental - 8 Hours \$630 per day

BALLFIELDS



3.6 acres

Pricing:

Security Deposit \$500

Facility Rental \$1,100 per day Set-up / Dismantle Day \$555 per day

BEEF BARN #1



120 ft. X 32 ft = 3,840 sq. Ft.

Pricing:

Security Deposit \$500

Facility Rental \$525 per day

BEEF BARN #2



With Scale -- 182 ft. X 32 ft = 5,824 sq. Ft.

Pricing:

Security Deposit \$500

Facility Rental \$525 per day



Pricing:

Security Deposit \$500

Facility Rental \$830 per day Set-up / Dismantle Day \$415 per day

BULLPOINT AND REDWOOD LAWN

CLUBHOUSE



19 ft. X 31 ft. = 589 sq. ft. Seats: 40 Stands: 85

Included with Building:

- 4 Tables
- 10 Office Chairs

Pricing: Security Deposit \$250

Facility Rental \$500 per day Set-up / Dismantle Day \$250 per day

Weekday Pricing: Security Deposit \$250

Facility Rental - 4 Hours \$220 per day Facility Rental - 8 Hours \$330 per day

CONCESSION STANDS



6 Avail: Pricing (Each): Security Deposit \$500

Facility Rental \$250 per day

3 Available Pricing (Each):

Security Deposit \$500

Facility Rental \$250 per day

PORTABLE CONCESSION STANDS

FARRELL WRENN PARK



Included with Rental:

Pricing:

• 10 Aluminum Benches

Security Deposit \$500

Facility Rental \$955 per day Set-up / Dismantle Day \$475 per day

GOAT BARN



158 ft. X 25 ft = 3,950 sq. Ft.

Pricing:

Security Deposit \$500

Facility Rental \$525 per day



GOLDEN STATE CIDER STAGE



Isosceles trapezoid: front 57', rear 39', and sides 27')

Included with Rental:

Pricing:

- 2 Bleachers
- 10 Benches
- **Additional benches

available at additional cost.

Security Deposit \$500

Facility Rental \$930 per day Set-up / Dismantle Day \$460 per day



HORSE ARENA



Single or Limited Rider, Non-Horse Show

Pricing:

Security Deposit \$500

Facility Rental \$720 per day Set-up / Dismantle Day \$360 per day





JUDGING RING



40 ft. X 56 ft. = 2240 sq. ft.

Pricing:

Security Deposit \$500

Facility Rental \$560 per day Set-up / Dismantle Day \$280 per day

MAIN LAWN / GAZEBO AREA



Included with Rental:

• 10 Round Picnic Tables

Pricing: Security Deposit \$500

Facility Rental \$930 per day Set-up / Dismantle Day \$460 per day





Concert Seating 5,500 Grandstand Seating 2,400

MCCANN STADIUM

Pricing: Security Deposit \$500

Facility Rental \$2,755 per day Set-up / Dismantle Day \$1,375 per day Lights \$630 per day

PLACER BUILDING

65 ft. X 137.5 ft. = 8,937.5 sq. ft. Dines: 575, Seats: 1250, Stands: 1775





Included with Building:

- 75 Tables
- 400 Chairs
- Climate | Evaporative

Coolers

Pricing:

Security Deposit \$750

Facility Rental \$1,985 per day Set-up / Dismantle Day \$990 per day

SIERRA BUILDING

50 ft. x 100 ft. = 5,000 sq. ft. (main hall floor) Dines: 325, Seats: 700, Stands: 950



Included with Building:

•Comes with:

- 50 Tables
- 300 Chairs
- Built-in stage
- Climate | Evaporative Coolers

Pricing:

Security Deposit \$750 Facility Rental \$1,460 per day Set-up / Dismantle Day \$730 per day

Weekday Pricing:

Security Deposit \$750 Facility Rental - 4 Hours \$660 per day Facility Rental - 8 Hours \$880 per day



SHEEP BARN

95 ft. X 50 ft = 4,750 sq. Ft.

Pricing:

Security Deposit \$500

Facility Rental \$525 per day



SMALL ANIMAL BARN



38 ft. X 79 ft. = 3,002 sq. ft.

Pricing:

Security Deposit \$500 Facility Rental \$350 per day



NEW SWINE BARN



180 ft. X 40 ft = 7,200 sq. Ft.

Pricing:

Security Deposit \$750 Facility Rental \$550 per day Set-up / Dismantle Day \$280 per day

OLD SWINE BARN



113 ft. X 40 ft = 4,520 sq. Ft.

Pricing:

Security Deposit \$500

Facility Rental \$525 per day



TAHOE BUILDING



27 ft. x 104 ft. = 2,808 sq. ft. Dines: 185, Seats: 400, Stands: 560

Included with Building:

- 20 Round Tables
- 5 Rectangular Tables
- 150 Chairs

Pricing: Security Deposit \$500

Facility Rental \$940 per day Set-up / Dismantle Day \$450 per day

Weekday Pricing:

Security Deposit \$750

Facility Rental - 4 Hours \$330 per day Facility Rental - 8 Hours \$440 per day



HIGH IMPACT EVENT



A high impact event is defined as an event with large attendance that utilizes one or more of the outdoor rentable facilities but does not include the use of any buildings, with the exception of the clubhouse.

Included with High Impact Rental: • Horse Arena	Does NOT Include: • Maintenance Labor
• Ballfield	(Please reference PN for labor rates)
• Main Stage	• RV Hookups
(Comes with 2 Bleachers & 10 Benches	• Concession Booths
• Main Lawn/ Gazebo	•McCann Stadium
(Comes with 10 Round Picnic Tables)	•The Patio
· · · · ·	• Farrell Wren Park
• Bullpoint Lawn	
 Stocked Bathrooms 	
o Rock Bathrooms	
o Clubhouse Bathrooms	Pricing:
o Ballfield Bathrooms	C
• Garbage Cans/Liners	Security Deposit \$1,500
(Dumpsters are a separate fee)	Facility Rental \$5,550 per day
• Wi-Fi	Set-up / Dismantle Day \$2,775 per day



EXCLUSIVE GROUNDS



15% discount applied to original rental price.

Included with Exclusive Grounds:

- All facilities including all buildings, barns & stadium
- WiFi

Pricing:

Security Deposit \$3,500

Facility Rental \$15,618 per day Set-up / Dismantle Day \$3,350.00 per day



NON-EXCLUSIVE GROUNDS



10% discount applied to original rental price 50% discount applied to original set-up price

Included with Non-Exclusive Grounds:

- All buildings and interior of fairgrounds
- WiFi

Does NOT Include:

- McCann Stadium
- Any barns

Pricing:

Security Deposit \$2,500

Facility Rental \$11,655 per day Set-up / Dismantle Day \$2,510 per day

ADD-ONS

**when available

Chairs \$5 each Long Tables \$15 each Round Tables \$25 each Bleachers/Grandstands \$250 each Picnic Tables \$35 each Umbrellas \$20 each Wine Barrel Bars \$250 each

Fiber-optic encrypted Wi-Fi \$165/day Public Address System \$100/day

> Portable Staging \$250 (4x4 sections, 20x20 max)

Green and Yellow Trailer \$250 (\$250 deposit required)

Power Distribution Spider Box \$100/box/day Spider Box Deposit \$100

Fi